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Functions and graphs 2E

Ui a2 T _ y

f(x) =22 - Tx -8 Wxn
_{{ A x
_E" c

X _ _I 0 f ;
o =)l 360 \_/_1_ N/ 360

8
3 a
g X
Y4 flx) =x(x + Dx-2)Nx+ 3)
c
Ui 6
\ /y= £(]c]) \
| =

]
oo
=Y
—
%}
=

f[.t} = 0S4 = |f{-ﬂ|

© Pearson Education Ltd 2017. Copying permitted for purchasing institution only. This material is not copyright free. 1



Pure Mathematics Year 2 SolutionBank

3 ¢C
iii m(x) =m(x|) is true:
7 —a -
y = f(lz) m(x) = 3 =3 =m(x)
) I
. 5 a
_ '\/_"1 '5'| 1\)’2 x y
y = [plx)]
B(+4, 5)
3D
4 a
y A C E2,1)
A i _:g :2 |D E
k(x) = 4> 0
b
o v v =pllz)
3D
b There is no need to sketch y = |k(x)|
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b b The graphs of y =|f(x)| and
¥, y =|g(x)| are the same as the original
graph.
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b y=|m(x)| and y=m(x|) are

reflections of each other in the
X-axis.

[mE)|=-m(x)
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y = f(|x])
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